A2 4 2| 2 0f| LA

[ &t ]
Q00)A2ARE  FHR30)RIAZS  MEQ34)FEE F:(401)AIHH|LLOHH| (Che] @ 28
— ofaey | SRS | 32
& A 27,040,391 19,303,000 7,737,391
200 AHEH2|Z 27,040,391 19,303,000 7,737,391
230 RIS 12,017,891 14,908,000 £2,890,109
234 F=2 2,322,891 1,518,000 804,891
401 A|2H|2CHH| 2,322,891 1,518,000 804,891
01 Al&gH]| 2,320,891 1,515,000 805,891
OR|Haa 715 B4 100,000,000 x 14} = 100,000
O dAl2|(dWors) g4+ =(1,200m)
150,000,000 x 14| = 150,000
Oof2dse Mye| g4z &2H(300m) 50,000,0008 x 14| = 50,000
OZHASE 252| 247 &2H2,000m) 400,000,000 x 14! = 400,000
OzleAIE sUigsa Y 1,000,000 x 20A = 20,000
oozt £=ZH|7|2A&lE 89| 920,000,000 x 14| = 920,000
OrRHSEr 2|MeE Z47 2124(2,000m)
300,000,000% x 14| = 300,000
OA|Lre opt AY(ER) 233,000,000% x 14 = 233,000
oYL L5 nH|(ER) 100,000,00094 x 14} = 100,000
OLLSAREAAIM 22| D3|(EXR) 8,000,0009 x 472 = 32,000
OMPUR TP shetetadst | Az ER)
15,891,000¢ x 14 = 15,891
03 A|MLSCHH| 2,000 3,000 A1,000
OR|Hate 22| 2oy 2,000,000¢ = 2,000
235 7|AHAZ| 0 100,000  A100,000
401 A|2H|2CHy| 0 100,000  A100,000
01 Al&gH]| 0 100,000  A100,000
239 HAMSQURpL 9,695,000 13,290,000 A3,595,000
401 A|dH| 2oy 9,695,000 13,290,000 43,595,000
01 Al&ZH]| 9,287,000 12,282,000 ~2,995,000
O 52, 28 g7 &2 HAMA 89
500,000,00094 x 14 = 500,000
Oz A HlG3E5Y F2AIY(ER)
3,569,000,000 x 14| = 3,569,000
OLFZ¥4Y ZH| 3,302,000,000& x 14 = 3,302,000
OERMSE G079 SRS (ER)
1,916,000,0009 x 14/ = 1,916,000
02 22| 400,000  1,000,000{  A600,000
OLF¥4Y ZH| Za|y| 200,000,000 x 14| = 200,000
OBERM4E S0 SRS ZaH|(ER)
200,000,000% x 14| = 200,000
03 AR 8,000 8,000 0




[ srme |
HQOOAEIAE  FQINPUMIZS  MSHR39ALBIN  S:(U0AIHIIEC) () : 212D

1-5*1%@-% odue | §ha | 32

OO AL HIGZEY FEAIY S| 2,000,0008 = 2,000

O3y FH| 2oy 3,000,000¢ = 3,000

OEEALE G479 SZHSHAIY) Sofy| 3,000,000 = 3,000
260 HPZISHHRES 14,563,500 4,038,000 10,525,500
261 HAMHSQURpL 14,563,500 4,038,000 10,525,500
403 ARz|CHSAF20lM 14,563,500 4,038,000 10,525,500
02 37|20l CHSH CHRHARRIH 14,563,500 4,038,000 10,525,500

OO0zt ADfEHA 2| Qlmat LAY (ER)

14,066,000,0008 x 14 = 14,066,000

OOz AHLRHRIAAR] P2AIRY(ER) 497,500,0009 x 14| = 497,500
270 RSEAHME 459,000 357,000 102,000
279 VIElFEE AR 459,000 357,000 102,000
611 7[EtRsalast 459,000 357,000 102,000
oYsZdsAde|s 243 170% x 2,700,000 = 459,000 459,000 357,000 102,000




